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253.

255,

. 258,

. 258,

. 259,

. 260,

. 260,

. 260,
. 262,
.263.

. 263,

. 266,

. 266,

. 266,

. 268,
. 269,
. 269,
. 270,

. 271,

. 271,

In equation (2ii) y, should be replaced by €,.

F(r,$,z) in the line above the equation (13) should be F,(r, ¢, z).
v in the first line of equation (18) should be vy

T, (%) in the first line of equation (22) should be Ty (¢).

The second term inside the curly bracket in equation (23) should
be multiplied by r.

In the 7th line from the bottom, the word !results' ‘ should be chan-
ged to 'result',

T1(§) appearing in equations (24) and (25) should be T,(§).

The positive sign in the numerator of equation (30) should be mi-
nus sign,

The absolute value sign, , appearing in the denominator of the
first line of equation (32) should be a square bracket,

Remove the sign) in front of the last integral of equation (34).
9 ‘

021(4) in equation (43) should be cyj
~ (2 -

In the first term of equation (51), by should be bgz,

In_the second term of equation (51) 5151 should be . changed to
byb p
108 -

In the first term inside the square bracket of equation (57), 2
should be n;%

n, in the numerator of the factor in front of the square bracket
of equation (60) should be n,?2

Bl and ¢in the last term inside the square bracket of equation
(63) should be replaced by B{? and ¢® respectively.

T (¥ = Kgsin 8) in equation (71) should be Tz (¢ = K,sin 6).
The minus sign in equation (76) should be dropped.

J,(n r) in (A-5) should be J (mr).

The factor (X,)? in (A-16) should be (A;r,)%.

The square bracket in the 9th line from the bottom should be com-
pleted before the equality sign.

The positive sign at the end of the 5th line from the bottom of
page 271 should be dropped.
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p. 309.

p. 311,

p. 311,

p. 316,

p. 318,

p. 320,

p. 322,

The next to last sentence of the last paragraph of section 2 star-
ting with 'But' should be omitted.

Section 5 line 10 'than' should be !'then!,

Figure 3. Reaction W; + Wg + W3 should act halfway along the
rigid (unnumbered) link,

Equation 29 (second part) should be:

_SBC = V2wl EA

r‘I‘he line after equation 38, the first

oTj

aT;i
5V1“ should be 3T -

The line above figure 13, -ydP should be -y8dP.

Equation 53 should read 84 = ,.......



